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00000000000 m_worker.cond_.wait();

oooooooooy

+0 0000000 coil:TimeValue[ tO(coil::gettimeofday());

0000000d (m_worker.running_)

ooooooooofq

00000000000 std:for_each(m_comps.begin(),[0 m_comps.end(),0 invoke_worker());
oooooooooy

0000000 m_worker.mutex_.unlock();

000000000 ('m_nowait)d {0 coil::sleep(m_period);[1 }

+0 0000000 coil:TimeValueO t1(coil::gettimeofday());
+00000000RTC_PARANOID(("Period:0 O O O %f0 [s]",0 (double)m_period));

+0 00 0000 ORTC_PARANOID(("Execution:d %f0 [s]",0 (double)(t10 -0 t0)));
+00000000RTC_PARANOID(("Sleep:00 O O O O %fO [s]",0 (double)(m_periodd -0 (t10 -0 t0))));
+000 00000 coail:TimeValuel t2(coil::gettimeofday());

+000000000 ('m_nowaitd &&0O m_periodd >0 (t10 -0 t0))
+0000000000¢

+000000000000RTC_PARANOID(("sleeping..."));

+00000000000 0 coil:sleep((coil:: TimeValue)(m_period( -0 (t100 -0 t0)));
+0000000000}

+0 0000000 coail:TimeValuel t3(coil::gettimeofday());

+00 00000 0RTC_PARANOID(("Slept:0 U O O O %fO [s]",0 (double)(t30 -0 t2)));
000000} whiled (m_svc);
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